






















L’état	de	l’eau	varie	en	fonction	de	la	température	et	en
fonction	de	la	pression.	La	température	et	la	pression	à	la
surface	de	la	Terre	permettent	ainsi	son	existence	sous	les
trois	formes	:	gazeux,	liquide	et	solide.	



L’intensité	lumineuse	et	de	ce	fait	la	température	à	la	surface	de	la
Terre	dépend	de	sa	distance	au	soleil,	cependant	dans	le	TP	1
nous	avons	vu	que	la	présence	d’une	atmosphère	influe	la
température,	nous	pouvons	donc	en	déduire	que	le	deuxième
facteur	est	la	présence	d’une	atmosphère	entourant	la	Terre.	La
présence	d’eau	liquide	et	donc	de	la	vie	sur	la	planète	Terre
dépendent	de	sa	distance	au	soleil	ainsi	que	de	la	présence	d’une
atmosphère.	













La	zone	d'habitabilité	est	centrée	sur	la	Terre,	ses	limites
sont	proches	de	Vénus	et	de	Mars.	
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